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QID : 201 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Writing therapy posit that writing about one's (1)/ feelings gradually eases the impact (2)/ of emotional trauma. (3)/ No error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 202 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The rotational period and seasoned cycles of the Mars are (1)/ similar to those of the Earth, as (2)/ is the tilt that produces the seasons. (3)/ No error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 203 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

They the storm approaching.
Options:

1) seen

2) looked

3) admired

4) saw

Correct Answer: saw
Candidate Answer: looked

QID : 204 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

This is worse than I thought it would be.
Options:

1) far

2) about

3) more

4) the

Correct Answer: far
Candidate Answer: more

QID : 205 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Munificent

Options:

1) Stingy

2) Generous

3) Careful

4) Sparse

Correct Answer: Generous
Candidate Answer: Careful

QID : 206 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Fledgling
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Options:

1) Wild

2) Apprentice

3) Fugitive

4) Ancient

Correct Answer: Apprentice

Candidate Answer: [ NOT ANSWERED ]

QID : 207 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Squall

Options:

1) Wind

2) Scream

3) Cry

4) Peace

Correct Answer: Peace

Candidate Answer: Wind

QID : 208 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Inquisite

Options:

1) Examine

2) Interrogate

3) Dig

4) Ignore

Correct Answer: Ignore

Candidate Answer: [ NOT ANSWERED ]

QID : 209 - Rearrange the parts of the sentence in correct order.

Pablo Picasso

P : showed his truly

Q : a very young age

R : exceptional talent from
Options:

1) RQP

2) PQR

3) PRQ

4) RPQ

Correct Answer: PRQ
Candidate Answer: PRQ

QID : 210 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Someone has collected the papers.

Options:

1) The papers have been collected by someone.

2) The papers are collected by someone.

3) The papers are being collected.

4) The papers is collected by someone.

Correct Answer: The papers have been collected by someone.
Candidate Answer: [ NOT ANSWERED ]

QID : 211 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Mr. Pattinson said, "I brought a chocolate for you.”

Options:

1) Mr. Pattinson brought a chocolate for me.

2) Mr. Pattinson said that he had brought a chocolate for me.

3) A chocolate was brought by Mr. Pattinson for me.

4) Mr. Pattinson said he brought a chocolate for me.

Correct Answer: Mr. Pattinson said that he had brought a chocolate for me.

Candidate Answer: [ NOT ANSWERED ]

QID : 212 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Exipberamce

2) Exuberance

3) Axuberence

4) Exubereance

Correct Answer: Exuberance
Candidate Answer: [ NOT ANSWERED ]
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QID : 213 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the
given blank out of the four alternatives.

In order to reason it is not merely necessary to have a good intellect. An athlete may have the proper , good framework, and
symmetrical muscles, but he cannot expect to cope others of his kind unless he has learned to develop muscles and to use them to the
best advantage. And, in the same way, the man who wishes to reason correctly must develop his intellectual faculties and must also learn the art using

them to the best advantage.

In order to reason it is not merely
Options:

1) correct

2) correction

3) correctness

4) correctly

Correct Answer: correctly

Candidate Answer: [ NOT ANSWERED ]

QID : 214 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the
given blank out of the four alternatives.

In order to reason it is not merely necessary to have a good intellect. An athlete may have the proper good framework, and
symmetrical muscles, but he cannot expect to cope others of his kind unless he has learned to develop muscles and to use them to the
best advantage. And, in the same way, the man who wishes to reason correctly must develop his intellectual faculties and must also learn the art using

them to the best advantage.

have the proper , good framework
Options:

1) proportional

2) proportionally

3) proportioned

4) proportions

Correct Answer: proportions

Candidate Answer: proportionally

QID : 215 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the
given blank out of the four alternatives.

In order to reason it is not merely necessary to have a good intellect. An athlete may have the proper good framework, and
symmetrical muscles, but he cannot expect to cope others of his kind unless he has learned to develop muscles and to use them to the
best advantage. And, in the same way, the man who wishes to reason correctly must develop his intellectual faculties and must also learn the art using

them to the best advantage.

expect to cope others of his kind
Options:

1) by

2) with

3) thus

4) so

Correct Answer: with

Candidate Answer: by

QID : 216 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the
given blank out of the four alternatives.

In order to reason it is not merely necessary to have a good intellect. An athlete may have the proper good framework, and
symmetrical muscles, but he cannot expect to cope others of his kind unless he has learned to develop muscles and to use them to the
best advantage. And, in the same way, the man who wishes to reason correctly must develop his intellectual faculties and must also learn the art using

them to the best advantage.

to develop muscles
Options:

1) this

2) that

3) them

4) those

Correct Answer: those

Candidate Answer: this

QID : 217 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the
given blank out of the four alternatives.

In order to reason it is not merely necessary to have a good intellect. An athlete may have the proper , good framework, and
symmetrical muscles, but he cannot expect to cope others of his kind unless he has learned to develop muscles and to use them to the
best advantage. And, in the same way, the man who wishes to reason correctly must develop his intellectual faculties and must also learn the art using

them to the best advantage.

learn the art using them to the
Options:

1) for

2) of

3) from

4) off
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Correct Answer: of
Candidate Answer: [ NOT ANSWERED ]

QID : 218 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Every dog has his day

Options:

1) The weakest will become the strongest, that is the cycle of life.

2) Everyone will have good luck at some point in their lives.

3) Loyalty will not go unrewarded.

4) Every person has a talent, and one will discover it one day.

Correct Answer: Everyone will have good luck at some point in their lives.

Candidate Answer: [ NOT ANSWERED ]

QID : 219 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

I can't think straight

Options:

1) Accept that the puzzle is too difficult for you.

2) Faced with a dilemma.

3) Cannot think rationally due to being overwhelmed with emotion.

4) Ask for advice on a difficult problem.

Correct Answer: Cannot think rationally due to being overwhelmed with emotion.

Candidate Answer: [ NOT ANSWERED ]

QID : 220 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Regard something as being due to a cause
Options:

1) Adventitious

2) Superfluous

3) Incidental

4) Ascribe

Correct Answer: Ascribe

Candidate Answer: [ NOT ANSWERED ]

QID : 221 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Showing poor taste and quality
Options:

1) Savour

2) Pike

3) Tacky

4) Exquisite

Correct Answer: Tacky
Candidate Answer: Pike

QID : 222 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

The cost of a cylinder then (was) about I18.
Options:

1)is

2) are

3) were

4) no improvement

Correct Answer: no improvement
Candidate Answer: is

QID : 223 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

Great personalities (has attained) their heights by doing things differently
Options:

1) have attained

2) have attain

3) have attaining

4) no improvement

Correct Answer: have attained
Candidate Answer: [ NOT ANSWERED ]

QID : 224 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

With global warming on
A-the rise, we have to do
B-save the environment
C-every bit that we can to
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Options:

1) ABC

2) ACB

3) CAB

4) BAC

Correct Answer: ACB

Candidate Answer: [ NOT ANSWERED ]

QID : 225 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) annexeations

2) anexations

3) annexations

4) anexeations

Correct Answer: annexations
Candidate Answer: [ NOT ANSWERED ]

QID : 226 - In the following question, select the related word pair from the given alternatives.

Balance: Mass::?:?
el weat # feu a1v fashot # & Heferd eree 98 T AT

AU GAAT 1?2 2

Options:

1) Speed : Odometer

arfar : s

2) Second : Time

THUE : FAT

3) Thermometer : Temperature

UATHICR : ATIHTT

4) Ammeter : Wind

3#teR 9y

Correct Answer: Thermometer : Temperature
UATHR : AT

Candidate Answer: Thermometer : Temperature

UATHIR : AT

QID : 227 - In the following question, select the related number from the given alternatives.
54:135::32:?
Prfaf@d weat & R arw faswedt # & Gaftrd dear & gfaw

54:135::32:7?

Options:

1) 90

2) 80

3) 65

4) 74

Correct Answer: 80

Candidate Answer: [ NOT ANSWERED ]

QID : 228 - In the following question, select the related letter/letters from the given alternatives.

RTK:NPG::XSP:?
TF=ATe e weat # U 10 fashout & & Hefera 37ar/37eRT 1 giav|

RTK:NPG::XSP:?
Options:

1) TPM

2) SOM

3) SPL

4) TOL

Correct Answer: TOL
Candidate Answer: TOL

QID : 229 - In the following question, select the odd word pair from the given alternatives.

ATt 9ot # U 91T fashodt 3 & fawe g oo 1 FiAT|
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Options:

1) Ant — Insect

i - e

2) Chair — Furniture

Tt — weifeR

3) Sketch pen — Stationery
THT 9T — G AT

4) Bird — Parrot

q&fr — drar

Correct Answer: Bird — Parrot
g&ft — drar

Candidate Answer: Ant — Insect
ey - Fre

QID : 230 - In the following question, four number pairs are given. The number on left side of (-) is related to the number on the right side of () with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given options.

oA T aTw yee &, IR @A oA fow e §1 () & St 3R & He () & el 3R & 918 Hear & Rl 7/ e @ weetta 1 i 38 oo o/ e & 3R W
T €1 few 1w fashedt & @ et I gfvl

Options:

1)12-8

2)28-24

3) 66 - 62

4)84-76

Correct Answer: 84 — 76

Candidate Answer: 84 - 76

QID : 231 - In the following question, select the odd letter/letters from the given alternatives.

TF=ATe e oot # U 1T fashout 3 & fawer 37eR/316RT 1 giwv|
Options:

1) RNJ

2) TPL

3) AWS

4) EBX

Correct Answer: EBX

Candidate Answer: EBX

QID : 232 - From the given alternatives, according to dictionary, which word will come at FIRST position?

1. Packing
2. Panda
3. Painless
4. Pacts
5. Panic

T aTu feoul 7 @, ereaehler & TR, HieT HT ea Tgel FUT T HAM?

1. Packing

2. Panda

3. Painless

4. Pacts

5. Panic

Options:

1) Panda

2) Pacts

3) Painless

4) Packing

Correct Answer: Packing
Candidate Answer: Packing

QID : 233 - In the following question, select the missing number from the given series.
60, — 52, 44, — 36, 28, ?
TerAfated weat # fev 1w fashedt # & ofed 37 AT HIoTT|

60, — 52, 44, - 36, 28, ?

Options:
1)-18
2)-12
3)-24
4)-20

Correct Answer: — 20
Candidate Answer: — 20
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QID : 234 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
LPT?BF?
T TR T ara B, e & vk ue e 81 Ru atv et 7 @ @ |E) Ry 9T, S Jegsha S U |

LPT?BF?
Options:

1)X, ]

2)Y,K

)W, I

4)Y,]

Correct Answer: X, ]
Candidate Answer: X, J

QID : 235 - Ankit walks 17 km towards east. He turn left and walks 17 km. He turns left again and walks 24 km to reach point A. What is the straight line distance
(in km) between the starting point and point A?

3ifehct od T 3R 17 T2, efcr &1 9 STl 3R e & T 17 R i @1 9 o STiT 3R agse § T2 24 A, g [¥eg A o agadr &1 3R faeg dur
faeg A & aeg iy dielt Yar gt (.. &) Far g2

Options:

1) 13v2

2) 14V4

3) 4v2

4) 112

Correct Answer: 13v2
Candidate Answer: [ NOT ANSWERED ]

QID : 236 - From the given alternatives, select the word which CANNOT be formed using the letters of the given word.
Uninspiring
fw a1e faewedt 7 & a5 ere AT ST faw 9T 2req & 31ERT T T e AT JAAT ST FehelT B |

Uninspiring

Options:

1) Ring

2) Spring

3) Nothing

4) Sun

Correct Answer: Nothing
Candidate Answer: Nothing

QID : 237 - In a certain code language, “"MAID"” is written as “13194"” and “"TEAR" is written as “205118". How is "OHMS” written in that code language?

s fafirse Az orr 7, “MAID” Y “13194” f@T ST § T2T “TEAR” &Y “205118" for@r Si1ar 1 59 Si1g 87197 3 “OHMS” Y 5 yehR forgr soam?

Options:
1) 198135
2) 6191312
3) 1213195
4) 1581319

Correct Answer: 1581319
Candidate Answer: [ NOT ANSWERED ]

QID : 238 - In a certain code language, X' represents '+', '+' represents X', '-' represents '+' and '+' represents '-'. Find out the answer to the following question.
16-2+35x20+2=7?

forelt fAfRaa Az T & X', '+ F USiAd FaT &, '+, X F IGRIT I g, -, '+ I USRI aar g AR '+, - B ueRia war §| Reafaf@d g 1 3ear ad #X
16-2+35x20+2="7?

Options:

1) 13

2)29

3)11

4) 32

Correct Answer: 13

Candidate Answer: [ NOT ANSWERED ]

QID : 239 - The following equation is incorrect. Which two signs should be interchanged to correct the equation?
14-6x30+10+4=28
Rfaf@d Tefeor Ted §1 58 THFOT F TET Fa & T et o Riegl &1 3798 7 3rcelT-seoll e afge?

14-6x30+10+4 =28
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Options:

1)-and +

SR+

2) + and x

+ 3R x

3) xand -

x AR -

4) +and -

+ 3R -

Correct Answer: - and +
-3k +

Candidate Answer: + and x

+ 3R x

QID : 240 - If 884 = 64, 5&8 = 80 and 8&1 = 16, then find the value of 989 = ?

afg 8&4 = 64, 5&8 = 80 31X 8&1 = 16, AT 9&9 I AT AT HL|

Options:

1) 124

2) 40

3) 162

4) 28

Correct Answer: 162
Candidate Answer: 162

QID : 241 - Which of the following terms follows the trend of the given list?
XYXXXXXY, XXYXXXXY, XXXYXXXY, XXXXYXXY, XXXXXYXY,
et f@d & & #ier @ ue & It e & et & 3R 82

XYXXXXXY, XXYXXXXY, XXXYXXXY, XXXXYXXY, XXXXXYXY,

Options:
1) YXXXXXXY

2) XYXXXXXY
3) XXXXXXYY

4) XXYXXXXY
Correct Answer: XXXXXXYY
Candidate Answer: XXXXXXYY

QID : 242 - Two horse drawn wagons start from the same farm. Wagon X travels South 4.5 km and then turns right and travels 7.5 km. In the meanwhile wagon Y
travels 9 km North, then 3.5 km West, then 2 km North , then it turns left and travels 4 km. Where is wagon Y with respect to wagon X?

ar eSSl Ueh &1 Wl W Tolehercll €1 ST X STaIoT feerm # 4.5 fheielie &l arm el § 3R O g1fget 7 el & 3R 3119 7.5 fohelleliey T I el &1 39 afrer amsr Y
Soel e # 9 feheltefiex T AT el &, T 9fRaer 3 3.5 fehalefied STreft &, T Seak # 2 Thailefiex Sielt &, T a8 aTU #73cl & 3 3191 4 fehaitefiex 1 amr &eelr 81
MY X & Fee 7 I Y g 8?2

Options:

1) 6.5 km North

6.5 .3, Iea}

2) 15.5 km North

15.5 fF.#T 3eax

3) 15.5 km South

15.5 fo.#T. gfaor

4) 6.5 km South

6.5 fr. 7. gfaror

Correct Answer: 15.5 km North
15.5 fR.#Y. 3caR

Candidate Answer: [ NOT ANSWERED ]
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QID : 243 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: Some papers are tabloids
Statement II: No magazines are papers

Conclusion I: No tabloids are magazines
Conclusion II: All magazines are tabloids

e F &l U o I § Fores 31T Y sy 1 31 11 feprer a1 €1 31T9eh! AT & 1 Sl U T § T8 a8 T AT a3t & @ welid gl g1 3maehr iAoy
HTAT § 1 T 7w foysepst 7 F Fla-ay/wla-8 Ri¥ad §9 F FU garT & e o Ghar g/asd ¢, I 315 8

FYF I: TS HITST LTSS 81 &
FU IT: F1$ 3 ITIHIT T 787 2ie &

sy I: FS o Saeiigs a¥ed 781 g &
farsy II: Tafy af¥ehrd Eealigs g &

Options:

1) Only conclusion I follows

Fad fasey [ T §

2) Only conclusion II follows

o forsey [[ T g

3) Both conclusions I and II follow

At forseny 1 3R 11 & g

4) Neither conclusion I nor conclusion II follows

ATt TSRy 1 JEY § &7 & sy 11

Correct Answer: Neither conclusion I nor conclusion II follows

AT TRy 1 Ter & 7 & Ty 11
Candidate Answer: [ NOT ANSWERED ]

QID : 244 -
In the following figure, rectangle represents Fashion designers, circle
represents Equestrians, triangle represents Campers and square
represents Golfers, Which set of letters represents Equestrians
who are not Fashion designers?

fAmofla et #, 3a e fomser &1 Wl &4 ¢,
3 TEHAR & e w R, e S @ s a &
IR @ AMew F R B § | FEW & e @ T I
T5HaR & el #a @ ot bt RRma &7

Options:
1) EG

2) DEG
3)1

4)E
Correct Answer: I
Candidate Answer: I

QID : 245 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
UPY, QLU, MHQ, IDM, ?
Teh 3efsha T a1 B, Forae & v v ovd 81 v 1w faewedt 7 & a5 @ Aoy g, S siegsha A qu |

UPY, QLU, MHQ, IDM, ?

Options:

1) FYI

2) EY]

3) EZl

4) FZ)

Correct Answer: EZI

Candidate Answer: [ NOT ANSWERED ]
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QID : 246 - In the following question, select the missing number from the given series.
147,153, 159, ?, 171, 177
TerAfated weat & foU a1v fashedl  F ofe 37 AT HIioIv|

147,153,159, 2,171, 177
Options:

1) 161

2) 164

3) 168

4) 165

Correct Answer: 165
Candidate Answer: 165

QID : 247 - In the following question, four groups of three numbers are given. In each group the second and third number are related to the first number by a
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

e T a7 weet 7, AT STt & AR wogg T e €1 I eTg H gEy T e 6T Tl et ¥ R U o/ § weatid §1 et 34 v ae/ e &
YR O §A ¢ | G 70 et & & et &1 gv)

Options:

1) (12, 35, 59)

2) (16, 47, 79)

3) (19, 57, 94)

4) (9, 26, 44)

Correct Answer: (19, 57, 94)
Candidate Answer: (19, 57, 94)

QID : 248 -

Options:
1)

<D

2)

3)

@

4)

<

Correct Answer:

<
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Candidate Answer:

@

QID : 249 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?
fArafafEa 3cr Ipfa 3 & FiF @ o= R
N g HHRT A X gA oA { A>T Al

ST Hehar?

X

O

O

X

+

Options:
1)

O
ﬂ*

2)

mnly

3)

Sl

4)

O

Correct Answer:

X,

mnly
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Candidate Answer:

=

_|_O

QID : 250 -

Award is represented by only one set of numbers as given in any one of the altemnatives. The sets of
numbers given in the alternatives are represented by two classes of alphabets as shown in the given
two matrices. The columns and rows of Matrix-| are numbered from 0 to 4 and that of Matrix-ll are
numbered from 5 to 9. A& letter from these matrices can be represented first by its row and next by
its column, for example 'K’ can be represented by 23, 41 et and 'P' can be represented by 59, 67 et
Similarly, you have to identify the set for the word 'NAME'.

TF I Faw UF SEE v i R v B Ree A e b d
o amn 1 Rewedt & Rv 70 wEmaAg weR & & @ qEw g av § o
o v arw & ameggl & 31 Fegpl & v ol o & v 0 7 4 3R el
R5F 9 F g F @ R A e A R iR ae d e Ee
cam &R o1 W §1 3GENr & fU K & 23, 41 3G qEw @i o v
¢ quw P @ 59, 67 W gawr gur o war ) o e & yw A d Ro
g ‘NAME' & fU S5 &1 Gt 2

Matrix | Matrix Il
E -I -0
o 1 2 3 4 5 [ 7 8 9
0 H H C 3 A 5 0 s z 8] P
1 M E A B I (3 N | w p X | w
2 M L G K E Fi N S R a | a
3 D H M L E 8 0 P N X W
4 [ K A B E ] v 2 5 s T
Options:
1) 24,59,30,99
2) 65,12,32,24
3) 10,68,14,95
4) 30,85,44,75
Correct Answer: 65,12,32,24
Candidate Answer: [ NOT ANSWERED ]
QID : 251 -
1+ L L is approximately equal to
e e gL
2 4 16 32 64
e N 1 1
1 & e gl

Options:
1) 1.5

2)2
3)25

4)3

ot
2 4 16 32 64

Correct Answer: 2
Candidate Answer: 1.5

QID: 252-
2x+3y 11

Jx-4y T

ZXTS_V_
gL Ix—4y

3

then the value of % is

W r
7 ¥

BT
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Options:
1) 65/19

2) 68/19
3) 67/19

4) 64/19
Correct Answer: 65/19
Candidate Answer: [ NOT ANSWERED ]

QID : 253 -
Find the value of 4f(2x ~5) «24f(x~1) , if 1<x<2.

J(2x=5F «2(x~17 @1 A= e F, 7 1<x<2 1

Options:
1)1

2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 254 - The pair of equations are 7x+8ky-16=0 and 14x+112y-21=0. Find the value of 'k’ for which the system is inconsistent.

7x+8Ky-16=0 3R 14x+112y-21= 0 FHEFIOT & FaaA §| k T AT AT HY forh fIT FOTR 06T 1
Options:

1)2

2)3

3)5

4)7

Correct Answer: 7

Candidate Answer: [ NOT ANSWERED ]

QID: 255 -
Calculate the angle BAC ifthe angle BIC = 125° and 'I' be the In-center of the
triangle.

FUTBAC & A Ald &Y, ARG HI0T BIC = 125° § 31 Bege &7 A & §)

A

Options:
1) 50°

2) 60°
3) 70°

4) 80°
Correct Answer: 70°
Candidate Answer: 60°

QID : 256 - The point where the triangle forms the right angle in the right angled triangle is known as the

FHT gt A o g et § gEHOTIAN Y, FEerr 5l

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click


http://www.superpathshala.com/2018/03/SSC-CHSL-2017-Tier-1-All-Question-Papers-with-Answer-keys-PDF-Download.html
http://www.superpathshala.com
http://www.superpathshala.com/2018/03/SSC-CHSL-2017-Tier-1-All-Question-Papers-with-Answer-keys-PDF-Download.html

Options:

1) in-centre

Ja:g

2) circum-centre

LIS -1

3) centroid

Fegeh

4) ortho-centre

FThG

Correct Answer: ortho-centre
TFEhy

Candidate Answer: ortho-centre

TG

QID : 257 - A has thrice as much amount as that of B and B has 40% more amount than C. If the average of the amount of all three of them is Rs 1320, then what
amount (in Rs) A has?

A 9T B & lleT a1 1Y § 74T B & 91 C & 40% 3Tk IR &1 Afe; it ohr iRt ohr 3T 1320 % €, A A & 9 Tt iRy (3 A) &2

Options:
1) 2410

2) 2520
3) 2250

4) 3240
Correct Answer: 2520
Candidate Answer: [ NOT ANSWERED ]

QID : 258 - Marks of two candidates X and Y are in the ratio of 4 : 7. If the marks of X is 140, then what will be the marks of Y?

ar 3T X TUTY o 37k 4 1 7 & gl & I X % 3k 140 §, AV Y & 37 FA1 gar?
Options:

1) 210

2) 180

3) 245

4) 225

Correct Answer: 245

Candidate Answer: 180

QID : 259 - In what ratio salt costing Rs 13/kg mixed with another salt costing Rs 7/ kg to get a mixture costing Rs 9/kg?

13 /T 31T, F{oa arel FHH T 7 &/fh. 3. Hed aTel w78 o ATY fohay 31oqaret ¥ TR ST drfeh 9 3/h. 30T, Hedr aTell Teh [H40T yTed 8F Sihe?
Options:

1)4:7

2)3:5

3)2:3

4)1:2

Correct Answer: 1: 2

Candidate Answer: 1 : 2

QID : 260 - The average age of 8 members of a group is 36 years. The age of the eldest member is 32 years. If we exclude that eldest member from the group,
then what will be the average age (in years) of the remaining members?

T HHE o 8 WeEdT 1 Hae Y 36 aY ¥ IS 93 Hed 1 30 32 ¥ §| T 5H 36 FaW 93 e H1 HHE U g1 &, o AY Fewdi 1 e Iy (At #) ar gei?

Options:
1) 38.5
2) 42.67
3)48.5
4) 36.57

Correct Answer: 36.57
Candidate Answer: 38.5

QID : 261 - Rs 10000 is kept at compound interest at an interest rate of 18% per annum (compounding annually). If the compounding of interest is done half
yearly, then how much more interest (in Rs) will be obtained?

10000 & T 18% Wfer a¥ & ATl &Y & Tehg e SATST WX (ATNeh HVoTel 9Y) TET 31T §| I ST b1 HAIoteT 3refariiies fovam S, A forctarr 3R 3iftres sarst (& ) wrea
grem?

Options:

1) 243

2) 324

3)81

4) 162

Correct Answer: 81

Candidate Answer: 162
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QID : 262 - Rahul professes to lose 16% on selling sugar and uses a weight of 680 gm instead of 1 kg. What is the total profit percentage?

gl Hell AT IR 16% FIfeT €1t T Tl AT & 7T 1 .21, Y 5191 TR 680 9T, & SR T SANT AT & Tl ol1aT HfcIwret 1 &2
Options:

1) 23.52

2) 16

3) 28.57

4) 19.24
Correct Answer: 23.52
Candidate Answer: [ NOT ANSWERED ]

QID : 263 - Two successive discounts of 5% and 15% are given by Rakesh on a table. If the marked price of the table is Rs 2000, then what is the value (in Rs) of
discount?

T SaRT Teh FoT O 5% AT 15% I &1 e e &1 718 §1 TG Aot &7 3ifeh F{e 2000 F &, dF g &1 A (¥ H) 747 8?2
Options:

1) 385

2) 425

3) 330

4) 500
Correct Answer: 385
Candidate Answer: [ NOT ANSWERED ]

QID : 264 - What is the square root of (3 — 2v2)/(3 + 2v2)?

(3-2V2)/(3 + 2V2) 1 A FAT§?
Options:

1)3-2V2

2)3 +2V2

3)1

4)17
Correct Answer: 3 — 2V/2
Candidate Answer: 1

QID : 265 - A certain number of men can complete a book in 10 days. If there were three more men, then book could be completed in 2 days less. How many men
were there in the beginning?

T TV TRl T 1 10 ot 7 U R Fehed &1 TG clieT T2 3R &Y, Y [ecioh b1 G e 3 2 T v w19Tet | IR  Fovctad To 42
Options:

1)8

2) 15

3)12

4) 10
Correct Answer: 12
Candidate Answer: 8

QID : 266 - A boy walking at the speed of 3 km/hr covers a certain distance in 3 hours 40 minutes. If he covers the same distance by cycle in 11 hours, then what
is the speed (in km/hr) of cycle?

3 b /eieT Y 1 A eI §U U ofsehl Ueh AT g 1 3 € 40 fAeTE & 77 T | Il ¢ FANT g Y WS fohel IR 11 6 A 7 Al §, Y Argfover v a1fcy
(Fr.#./ger &) T €7

Options:

1)1

2)2

3)4

4)3

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]
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QID : 267 -

The pie chart shows the number of elephants in all the elephant
wild life sanctuaries in the country. Study the diagram and answer
the following questions.

g UIs AC U & §el g1l awwela anmRuat # g
gt fr dwar & afar &1 58 3@ & 3eggT H R
fArafaf@d weat & 3eat &)

| Numberof&lephants,’ﬁ!fh’ﬂ"ﬂ‘m

The least number of elephants are in which sanctuary?

FIRET T Gl e HEAT vl IRIRTT & &2
Options:

1)C

2)D

3)G

4)B
Correct Answer: B
Candidate Answer: D

QID : 268 -

The pie chart shows the number of elephants in all the elephant
wild life sanctuaries in the country. Study the diagram and answer
the following questions.

Iz W3 I1C U & T gredhr e eERvdt & fRrg
It T FEar & gAlar §1 56 3R # 3eaad & AR
frfaf@a vt & 3o &

. Numherofelephantsfmiﬁm

What is the total number of elephants in these sanctuaries?

ST JTHAROGT F GITAAT T ool TEAT FAT 72

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



http://www.superpathshala.com/2018/03/SSC-CHSL-2017-Tier-1-All-Question-Papers-with-Answer-keys-PDF-Download.html
http://www.superpathshala.com
http://www.superpathshala.com/2018/03/SSC-CHSL-2017-Tier-1-All-Question-Papers-with-Answer-keys-PDF-Download.html

Options:
1) 4500

2) 3000
3) 4000

4) 3500
Correct Answer: 4000
Candidate Answer: 4500

QID : 269 -

The pie chart shows the number of elephants in all the elephant
wild life sanctuaries in the country. Study the diagram and answer
the following questions.

Ig W3 I1C U & T gredr aeueha weEwedt & fRg
BTt T FEar & gAfar §1 56 3R & eadd & AR
fArafaf@a weat & 3aaw &

. Number of elephants / aftat freear

The measure of the central angle of the sector representing the number of elephants in Sanctuary D is degrees.

3eTARUY D # His[g g1 1 T &1 fafafticd st arel 819 & SHErg HIT HT AT [ER I

Options:
1) 40

2) 45
3) 36

4) 30
Correct Answer: 36
Candidate Answer: 45
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QID: 270 -

The pie chart shows the number of elephants in all the elephant
wild life sanctuaries in the country. Study the diagram and answer
the following questions.

g UIs AC U & §el g1l awwela anmRuat # g
IRt & T & gular §1 50 3R & 3eadd & AR
fArafaf@a weat & 3w &)

Number of elephants / g1at FrEEar

If the average area occupied by each elephant in these sanctuaries is 50 sq km, then what is the total area (in 1000 sq km) of these sanctuaries?

I 37 33RO # Fedsh g1l GaRT el AT I YA &ttt 50 J97 fhalldiex ¥, af o7 JreraRuat &7 Fof aTaher (1000 F97 fraliefiex ) &/ 87
Options:

1) 200

2) 150

3) 100

4) 300
Correct Answer: 200
Candidate Answer: 150

QID : 271 - The area of an equilateral triangle is 36v'3 cm?. Find its side (in cm).

na;m@ﬁﬁgsra?rmw%ﬁ a7 AT 8| ST T (Fefex 1) 1T =

Options:

1)6

2) 24

3) 12

4) 36

Correct Answer: 12
Candidate Answer: 6

QID : 272 - If the sum of the interior angles of a regular polygon is 540° then how many sides does it have?

afe; weh A sgager & AR HIOM 7 AT 540 3o & A 3T Fopetar ogatTC &2
Options:

1)6

2)8

3)5

4)9
Correct Answer: 5
Candidate Answer: 6

QID : 273 - The curved surface area and the diameter of a right circular cylinder are 132 cm? and 7 cm respectively. Find its height (in cm).

U TS Il Solel & a5 Hlg T &l 3 ard sharer: 132 @97 HEeR 3R 7 Gefiex §1 saeh Fars (Fdefex #) 71d Y
Options:

1)7

2)8

3)9

4)6

Correct Answer: 6

Candidate Answer: 7
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QID : 274 - AXYZ is right angled at Y. If mzX = 30°, then find the value of (cosZ + 1/3).

AXYZ & Y O GHEAIOT §| T msX = 300§, a (cosZ + 1/3) T AT AT Y|
Options:

1) (2+v3)/2

2) (2v2+V3)/2

3) 1+V3

4) 5/6
Correct Answer: 5/6
Candidate Answer: [ NOT ANSWERED ]

QID : 275 - In AXYZ measure of angle Y is 90°. If tanX = 15/8, and XY = 16cm, then what is the length (in cm) of side YZ?

AXYZ F FI0T Y &1 A 90° §| I tanX = 15/8 3T XY = 16 FEHCT B, A o1 YZ &Y oiars (FHIex #) 771 82

Options:
1) 34

2) 30
3)15

4) 14
Correct Answer: 30
Candidate Answer: 30

QID : 276 - Who among the following has classified money in to two types on the basis of its nature?

TFAff@e & & foraer HaT o1 30 Tohfal 3 TR 9T & Hrelt 7 ajer 82
Options:

1) John Maynard Keynes

SileT AATE Aled

2) Adam Smith

usH Ay

3) Karl Marx

el AR

4) Milton Friedman

e wissda

Correct Answer: John Maynard Keynes
SileT AATS Rled

Candidate Answer: John Maynard Keynes

et AATS Fled
QID : 277 - SIDO is related to the development of which of the following?

3T (SIDO) faw=ifafaa 7 & frass faera & @afaa &2
Options:

1) Small industry

g JegaT

2) Steel industry

SEAT 33T

3) Software industry

AT 35T

4) Sugar industry

=T 3eeT

Correct Answer: Small industry

g et

Candidate Answer: Software industry

HrrcaaR 3ereT
QID : 278 - Bahmani ruler Tajuddin Firuz married the daughter of which of the following Vijayanagara rulers?

TEHeAT AT TASTENA ST o ToTeToR & oy ek T AT & farame fea am?
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Options:

1) Harihar II

gRe 11

2) Devaraya I
a1

3) Devaraya II
G 11

4) Krishnadevaraya

FSUTCERTT

Correct Answer: Devaraya I
g 1
Candidate Answer: Devaraya I

AT I

QID : 279 - In whose reign, the office of the Vakil was abolished?

Toraeh AMHeAGhTeT 7 Gehlel UG T THTC Y 16T IAT?
Options:

1) Akbar

3hsT

2) Jahangir

SRR

3) Shah Jahan

ATGSTET

4) Aurangzeb

Kirocr

Correct Answer: Shah Jahan
LATESTET

Candidate Answer: Akbar
3T

QID : 280 - Angel Falls is situated on which river?

T STervaTd forg A6r ) ud §7?
Options:

1) Amazon

AT

2) Orinoco

Kiirgica)

3) Caroni

R

4) Parana

WTeAT

Correct Answer: Caroni

AT

Candidate Answer: Amazon

AT

QID : 281 - The southern boundary of India's mainland is

AR & HEI-HA & ol drar g |
Options:

1)6°4 N

2)7°4N

3)8°4N

4)6°8N

Correct Answer: 8°4 N

Candidate Answer: 8°4 N

QID : 282 - Jain literature is also called as

SHafeega __ sfraer S gl
Options:

1) Pitaka

s

2) Agam

3ATITH

3) Kalpa

Sed

) Sutt

Hcd

)

Y
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Correct Answer: Agam
AETH

Candidate Answer: Pitaka
s

QID : 283 - In a bid to boost their bilateral strategic partnership and to increase defence co-operation, India and which of the following countries held their
inaugural Foreign Secretaries and Defence Secretaries dialogue in New Delhi on December 12, 2017?

efauei FrARe AR 3R GRET Hedler # Aot o & fov sRd 3R Feafaf@d # @ fhg gor = gge R fager afedt it geam afudl 1 ard 12wy, 2017
& o7 ool 7 &2

Options:

1) Japan

ST

2) Singapore

fRamR

3) Australia

JiteefoaT

4) South Africa

afeyoT 35hTeRT

Correct Answer: Australia
siteeforar

Candidate Answer: Singapore

e

k)

QID : 284 - In January 2018, Dr. Vinod Paul became first Indian to be awarded prestigious IThsan Dogramaci Family Health Foundation Prize by World Health
Organisation (WHO). He is a member of

STeTay, 2018 #, . felie dier faed FaTEeT e (WHO) GaRT Tiaiffad Teane sSRRART Hife g B33 [EhR & FFAITd gl el YUH HRY a1 &1 J6
& UF TG &
Options:

1) NITI Aayog

FAfer 3T

2) UPSC

T

3) Lok Sabha

EICoR:EN

4) Rajya Sabha

T AT

Correct Answer: NITI Aayog
At 3maeT

Candidate Answer: UPSC
gdreEdr

LN

QID : 285 - Nepali language is written in which script?

ATl oTrwT for forfy & forgdy Sl 82
Options:

1) Uchen

3T

2) Tirhuta

[GIDECItE

3) Devanagari

SIARRY

4) No option is correct.

#1$ Tashed el 71eT &1
Correct Answer: Devanagari

SIATIY

Candidate Answer: Tirhuta

AfeneR

QID : 286 - Which of the following statements is CORRECT?

FfafEd &  Fi a1 Fu7 7 2
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Options:

1) NaCl has same equivalent weight and molecular weight.
NaCl T JegiehT 8 TUT 3HTTUash HR HAT g |

2) H,SO4 has same equivalent weight and molecular weight.
HS04 T Jodiehl R YT 3HTT0aeh HR HAT |

3) CaCl, has same equivalent weight and molecular weight.
CaCly T JogiehT $IR TUT 3HTT0GH HR FATT &

4) Na,S04 has same equivalent weight and molecular weight
NapSO4 T Jediehl $TR T 3TT0Th $TR HAT &

Correct Answer: NaCl has same equivalent weight and molecular weight.
NaCl T JegiehT $I TUT 30T HR HAT g |

Candidate Answer: [ NOT ANSWERED ]

QID : 287 - Which of the following wave CANNOT propagate in a vacuum?

FfafRd & & Fia T a1 et 7 77T gl X Tehah &2
Options:

1) X-rays

Tg-fRtot

2) Radio waves

AT e

3) UV-rays

RISaTAT ROt

4) Ultrasonic waves

R faot

Correct Answer: Ultrasonic waves
Rrafae feot

Candidate Answer: [ NOT ANSWERED ]

QID : 288 - Which among the following is NOT a level of Government in India?

I. Local level government
II. State level government
III. National level government

AR & ¥ ARG & $iF § TR 67 TWEN a8 &2

L. T FR A TWER

IL. T &R & WP

III. e e 3 W
Options:

1)Only I

Fad [

2) Only IT

Fad 11

3) Only III

Fae 111

4) No option is correct.

1S fased e 781 81
Correct Answer: No option is correct.
1S farmed W e 8
Candidate Answer: Only III
haer 111

QID : 289 - The idea of people’s participation in the Panchayati Raj System extends to how many other levels?

TG TS gaedT F A9l T AR el 39 TRT W gidr 82

Options:
1)1

2)2
3) 4

4)5
Correct Answer: 2
Candidate Answer: 2

QID : 290 - In sexual reproduction the male gametes are generally

AR Setet 37 A e WA A&l
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Options:

1) Only motile

el arfaeirer

2) Only small

Fadl BIC

3) Both motile and small

aiferfier @ B¢ aet

4) Only food stores

CECRCICURIEIRS

Correct Answer: Both motile and small

aifareler o BT gt

Candidate Answer: Both motile and small

aifreler a2 BT gt

QID : 291 - Which tissue provides support to plants and also stores food?

FHieT AT Scleh 1T T TERT Y&T FT & AUT HISTeT T HSROT Y T 8?2

Options:
1) Parenchyma

RewmrgAT

2) Collenchyma

leleehTgAT

3) Sclerenchyma

ThISAT

4) No option is correct.

S fahey @ 7 B

Correct Answer: Parenchyma
RehrzaT

Candidate Answer: Sclerenchyma

TholehTgAT

QID : 292 - Where was the India’s first ‘All India Institute of Ayurveda (AIIA) inaugurated on ‘Ayurveda Day’, 17th October 2017?

17 3SR 2017 3G fea@’ O HIRA & Tgel ‘3TWel HRAT 3T FEAN (THIEIHTET)’ HT IETC Fel §3HT AT?
Options:

1) Mumbai

e

S
2) Dehradun

o)

3) New Delhi
EEACIC
4) Bangalore

ek

Correct Answer: New Delhi
S foar

Candidate Answer: Bangalore

CEICIC

QID : 293 - Which region of India is set to get the country’s first ever ‘Air Dispensary?

AR T et AT &1 32T T FA9YH arg Nererd’ yred adel 1 fav sregefad 82
Options:

1) Eastern Ghats

udf are

2) Northeastern states

Seaqdl T

3) Coastal plains

TET HereT

4) Jammu and Kashmir

STEA 3R e

Correct Answer: Northeastern states
Seaydf I

Candidate Answer: Jammu and Kashmir
STEA 3R e

QID : 294 - Which expert committee has been constituted by Reserve Bank of India to look into the issues relating to classification of bad loans, effectiveness of
audits and rising incidents of frauds?

3o HOT & FefenTuT, oIET ST 1 gemraeiierar qur eiEres & Fedl a3 & A 7 3R F & AT dRcda Red S garr e d v afafa afsa g §2
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Options:

1) Vinay Sheel Oberoi Committee

oo ofrer 3ot afAfa

2) N. Gopalaswami Committee

T, aMaTerearHT fAfa

3) Y. H. Malegam Committee

ars. v, Areend AiAfa

4) N. Chandrashekhar Committee

T, Tegre} afAafa

Correct Answer: Y. H. Malegam Committee

ars. T, AreenH TiAfT
Candidate Answer: [ NOT ANSWERED ]

QID : 295 - On 24 January 2018, the Ministry of Women and Child Development launched a Management Information System (MIS) portal for the .

24 STy 2018 I, AT TUT STeT I HATT o7 & ToIT Ueh Jaerel el JOTTell (TH3TSTH) Wea ol YHRH |
Options:

1) Scheme for Adolescent Girls

TRk wrsferat 1 s

2) Scheme for Widow women

faerar Afgen3iT Fr Tt

3) Scheme for Acid attack victims

RIS g & RIFGR |l AT Arster

4) Anganwadi Services Training Programme

STITTSTET JaT TRAGTOT Frishe

Correct Answer: Anganwadi Services Training Programme

TS HaT TiRALTOT HEhE

Candidate Answer: Scheme for Acid attack victims

RS g & RIGR |l &7 Areter

QID : 296 - What is the heat released by a heating filament rated 24 W when it is kept on for 6 seconds?

24 W 3TeTHdioh aTel T GaRT #eFcT AT fehcttl g1elt afe; 38 6 Aehs o T =Tef T Trelr 872

Options:
1)4

2) 144
3)72

4)8
Correct Answer: 144
Candidate Answer: 144

QID : 297 - When the vibrating object moves backwards, it creates a region of low pressure in the medium called

ST HIHATT TE NS T 3R Fo0eT Tl § A Uah (9a<T QT 7 &1 Scoof eI & ol ____ Fecl 8
Options:

1) elongation

greffenor

2) perpetuation

AT

3) gyration

AT

4) rarefaction

et

Correct Answer: rarefaction

et

Candidate Answer: gyration

AT

QID : 298 - Many marine animals use dissolved in sea-water to make their shells.

ST & WAL S T STl 3 gl A 39 T A
Options:

1) acids

GEICH

2) alkalis

&

3) silica

Taferer

4) carbonates

Frefele
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Correct Answer: carbonates

Frefae

Candidate Answer: silica

TafereT

QID : 299 - Which of the statements given below are correct?

A) Zhansaya Abdumalik won the Chess 2017 Women's World Junior Chess Championship.
B) In 2017, Marc Marquez raced in MotoGP for Yamaha.
C) Zhu Yuling won the Tennis 2017 Wimbledon Championships Women's Singles.

afaf@a 3 & «ia ar saa a7 &2

A) SEHTET 3TegATIE o e 2017 THH o8 SR Aeel APITARIT Sl
B) 2017 & A HHUS =¥ JrATET & fow Aershd & feear forr

C) 31 T & v 2017 Rarers AFTRIT g fRiare el
Options:

1) Only A

Fad A

2) BothAand C

A 3R Ca=t

3) BothBand C

B 3R C gt

4) No option is correct.

F1$ o T 78T B

Correct Answer: Only A

FHael A

Candidate Answer: [ NOT ANSWERED ]

QID : 300 - In HTML, attribute is used for merging of two or more adjacent columns.

TIETHTS H, TIRAYAT T 3TN &Y AT 37TAF T PrerA! & faerT & v fvar sar g1
Options:

1) CELLPADDING

TerdfEar

2) CELLSPACING

Fereafder

3) ROWSPAN

g T

4) COLSPAN

el Tt

Correct Answer: COLSPAN
el Tt

Candidate Answer: [ NOT ANSWERED ]
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